
Group Example

TRS: f(x, f(y, z)) → f(f(x, y), z) f(e, x) → x
f(x, e) → x i(i(x)) → x

f(x, i(x)) → e f(i(x), x) → e

f(f(x, y), i(y)) → x f(f(x, i(y)), y) → x
i(e) → e i(f(x, y)) → f(i(y), i(x))

i(f(i(u), f(v, u))) i(f(x, y)) → f(i(y), i(x)) σ = {x/i(u), y/f(v, u)}

f(i(f(v, u)), i2(u)) i(f(x, y)) → f(i(y), i(x)) σ = {x/v, y/u}

f(f(i(u), i(v)), i2(u)) i(i(x)) → x σ = {x/u}

f(f(i(u), i(v)), u)

f(i(u), f(i(v), u)) f(x, f(y, z)) → f(f(x, y), z) σ = {x/i(u), y/i(v), z/u}

f(f(i(u), i(v)), u)


